15. K@ AOEH

BfE&S 2005 (HI7)AE10H 1H

BfAL — 1 2 fi 32.5
NEAT | #BE AT R4 e i NEAT | HBE T R4 e i
— 4 51.4 24 H U 57.7

1 = R 68. 6 25 (L 25! 57. 1
2 K H 64. 9 26 = H 55. 7
3 (L Vi 64.5 27 153 1=h 55. 1
4 R E 64. 4 28 vl I 54. 1
5 = Eal 63. 4 29 i = 54. 0
6 = F 62. 4 30 jiea 55 53.9
7 (] [ 61.9 31 et ] 53.3
8 E i 61.8 32 e [i] 53. 3
9 = i 61.8 33 1t i & 52. 1
10 = i 61.7 34 fr Jei. 51.9
11 fE 7N 61.6 35 z= B 51.2
12 J=> i 61.5 36 = I 51. 1
13 N 45 61.1 37 & [if] 51.1
14 Fnodkol 61.0 38 x I 50. 6
15 e = 61.0 39 i N 50. 6
16 5= % 60. 4 40 a3 = 50. 5
17 r 5 60. 1 41 = g4l 49.9
18 () = 59. 8 42 K B 48. 1
19 & = 59. 8 43 = 0 47.3
20 & I 59. 6 44 |©O T e 45. 2
21 & i 59. 0 45 i * 43. 8
22 £ H 58.0 46 w23 ) 43. 8
23 [if] (g 57. 7 47 W iy 42. 8

75

o REBADOHES

65

60 1 —

55

50

A

T EEEMUERFEBERATERRLULREB B 2R AEZTNEEAALEATEERERREXERE +
i = £ L)
EXFFHEREBEABTBERINBUNARXRFTFEMNEESNRERLRNRUSOS NI ENBEBEREAR S KB &

(g =)
- ERHEET  BE R TR TR E S A
(T EXX) ] =0.s
-FHGE R AR (P AR+EFEAR) [ Eeos-
AR N (15~645E A1) X100 | Fg ..
{ &




